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4 (i) Find integers m and n such that /3 + 2\/5 =m+ ’n\/i

(ii) Let f(z) = 2* — 1022 4 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain why f(z) can be written in the form

f(z) = (22 + sz + p)(2? — sz +q)

for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
s%(s2—10)*> + 85> — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s% to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.
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(i)  Find integers m and n such that \/3 +2v2 =m +nv/2.

(ii) Let f(x) = 2% — 1022 + 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain why f(z) can be written in the form

f(z) = (22 + sz + p) (2% — sz + q)

for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
5352 = 10)2 + 852 — 144 = 0

and find the three possible values of s2.

Use the smallest of these values of s% to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.
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4 (i) Find integers m and n such that \/3 +2v2 =m +nv/2.

(i) Let f(z) = 2* — 1022 + 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain why f(z) can be written in the form

f(z) = (2 + sz + p) (2% — sz + q)

for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
s%(s? = 10)2 + 852 — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s2 to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.

2
NE_LOX LK <2 = £

1
3¢ 03 107 piax -2 = food

QB(Q%QXJCP)()%— Xt @ \ XZ e .

3 K 3
Sx — 8x = OX

2
oot ¢ X teom 18 Zero,




0%8~P§ — (2
sLo-p) =12  —\2

qu: —/ g

4{ (i) Find integers m and n such that \/3 +2v2 = m 4+ nv/2.

(ii) Let f(z) = 2* — 1022 + 122 — 2. Given that the equation f(z) = 0 has four real roots,
explain why f(x) can be written in the form

f(x) = (2® + sz + p)(a® — 5z + q)
for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
s%(s* =102 +8s* — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.
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4 (i) Find integers m and n such that \/3 +2v2 = m +nv2.

(ii) Let f(x) = 2% — 1022 + 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain why f(z) can be written in the form

f(z) = («* + sz + p)(2® — sz +q)

for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
53 (s = 10)* +8s* — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.
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\}/d integers m and n such that \/3 +2v2 =m +nv/2.

et f(r) = 2* — 1022 + 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain Why f(x) can be written in the form

\/ f(z) = (& + sz + p)(@® — sz + )

or some real constants s, p and ¢, and find three equations for s, p and q.

\/{Ow that
s%(s* =102 +8s* — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s? to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.

(S 0y +£(8) - 1y
8%-—'9&%&Z 190 ]
SLQ Q¥_ ¢ 4 vop ) Bl AN
Sb — 9\0&\(} 10Y gl 4N =0

;T ‘3?—31

2 g

= I\ =
‘j ;mj —HQ&D \Ye =0

_W\a U=2



(g2 + by +C) B0 1oy 14
@

D=\ C=a2
2
()/ )3 «—15—%%5_ —«-Zwﬂi

“'2:’5‘\0: ~29
b = —\ 8

g

QSQ-,13<;SLF- L§ Sl—ﬁ?r’z} = 0O 2 6



(i) Find integers m and n such that \/3 +2v2 =m +nv/2.

(ii) Let f(z) = 2* — 1022 + 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain why f(z) can be written in the form

f(z) = (2° + sz + p)(a® — sz +q)

for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
s%(s? = 10)2 + 852 — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s2 to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.
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4 (i) Find integers m and n such that \/3 +2v2 = m 4+ nv/2. K‘I)

(ii) Let f(x) = 2* — 1022 + 122 — 2. Given that the equation f(x) = 0 has four real roots,
explain why f(z) can be written in the form

f(z) = (z* + sz + p)(2* — sz + q)
for some real constants s, p and ¢, and find three equations for s, p and q.

Show that
s%(s* = 10)* +8s* — 144 =0

and find the three possible values of s2.

Use the smallest of these values of s to solve completely the equation f(z) = 0,
simplifying your answers as far as you can.
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